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H lle22 88 7,339 8,155 N816
201 Ler2dl 5,629 6,255 N626
01 AtS 22l 5,629 6,255 N626
OAMBES ABAR HE (20 4HE20H)
Z2& 319,000& * 14 319 945 N626
206 M=l 405 450 A5
01 M=l 405 450 A5
OBMMUND 58 OIAl TR (Z06HE20H)
Z & 405,000& = 14! 405 450 N45
301 LetEas 1,305 1,450 A 145
10 HALAHIZ & 1,305 1,450 N 145
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M s€lis4dH
M g Jl=oHy

Sl RIS HFMA IS (S5l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 JIE o B2
01 pIAX=EE 22,050 24,500 A2,450
OSs I ZIIE5H MU A (ZOAELH)
AH 22,050,0008 * RS 22,050 24,500 A2,450
FAUTHUHE S AlE 3,600 4,000 A400
402 DIZHXHR 0| 3,600 4,000 A400
01 pIAX=EE 3,600 4,000 A400
OBBBHE YUTHEBAIS (ZHAZLH)
2 3,600,002 * 1HA 3,600 4,000 A400
CHE2MRITIEH SR Al 6,750 7,500 AT50
402 QIR0 6,750 7,500 AT50
01 pIZTEEE 6,750 7,500 AT50
OW=2 M2l TR Al (=0l &R 2toH)
A 6,750,0002 * 1HA 6,750 7,500 AT50
KT 2SS TH4THH Al E 13,500 15,000 A1,500
402 DI 0 13,500 15,000 A1,500
01 pIZTEEE 13,500 15,000 A1,500
OXIT2Uat TS THTHUH Al (=0 AHE 2t o8
) AN 6,750,008 * 244 13,500 15,000 A1,500
B ZAE olZa X 46,776 49,500 A2,724
402 DIZHRHROIH 46,776 49,500 A2,724
01 DIZTEEE 46,776 49,500 ~2,724
Ol ZAY IZ4R N (ZHATLH)
2 436,2002 * 107.285a 46,776 49,500 A2, 724
PR LIy [N 18,900 21,000 A2,100
402 AT RO 18,900 21,000 A2,100
01 pIAXEEE 18,900 21,000 A2,100
ONELRMNE SRS T8 AL (20LE
2o) M 9,450,002 * 24 18,900 21,000 A2,100
BB ELAIY 9,450 10,500 A1,050
402 PI2AX RO 9,450 10,500 A1,050
01 pIAX=EE 9,450 10,500 A1,050
OREES SHFSX T& Al (R0 =)
2 9,450,0002 * 1HEHX| 9,450 10,500 A1,050
ASHASAAY 4,500 5,000 A500
402 QIR0 4,500 5,000 A500
01 BIZTEEE 4,500 5,000 A500
OHSMY B4 A (20 ATLN)
A 4,500,002 * 1HA 4,500 5,000 A500
2R S A S THH Al E 12,600 14,000 A1,400
402 QIR0 12,600 14,000 A1,400
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2N sgII=HH
=g JlsHeg
Cel: EiAS dFMMN JI=2Es (el &
SN B SRA(SIH) - MBAY - BAS 0l &k 24 p[E-Ll HlnE2
01 BIZFGEEXR 12,600 14,000 A 1,400
OZHHSE ASTHHN AIE (20 AEZH)
Z2& 12,600,000& » 1&=Et 12,600 14,000 21,400
MNEstAZUEL 2SS 18,900 21,000 A2,100
402 It X201 18,900 21,000 A2,100
01 SIAG2EX 18,900 21,000 22,100
OAEoteA FUESE SN =L (2HLE
2+oH) 23 9,450,000& * 2044 18,900 21,000 22,100
Sst&EF s 385,752 494,677 A~ 108,925
Ed S R 296,659 398,610 A 101,951
201 et 3,159 3,510 A 351
01 AtS 22l 1,944 2,160 A216
O DIMEH Z&ASI| M (20 LE2H)
Z2& 1,080& * 1,8000H 1,944 2,160 A216
02 25234l 1,215 1,350 2135
O[AIE& & BIRXH] 1,215 1,350 2135
Ot Farela Yl XL (20a=2
o) 23 121,500& » 108 1,215 1,350 A 135
206 M=l 293,500 393,500 A 100,000
01 Mz bl 293,500 393,500 A100,000
OFEel Mo =X EEX XS (20 AE2H)
23 1,000& = 280,000kg 280,000 380,000 A 100,000
405 KH&HFESHI 0 1,600 A 1,600
01 ML ESHSHI 0 1,600 A 1,600
O0ME ZH DD P (20LEZH)
23 03 0 1,600 A 1,600
TAB S 2 30,751 31,975 AT,224
201 LBt 3| 6,966 7,470 A504
01 AtS 22l 3,930 2,430 1,500
OXZHa 23| 3,930 2,430 1,500
OHIAI2X 2l (201-02011 A )
2 150,000& * 258 3,750 2,250 1,500
02 332234l 3,036 5,040 A2,004
OZZ A &Hl S XIHI(201-012)
Z & 300,000& = 14l 300 1,800 A 1,500
ODT0L IR =s2a UUSFHI (20 4E
ZHoH) Z2E 2,736,000& * 14 2,736 3,240 A504
206 M=l 6,480 7,200 AT20
01 M= bl 6,480 7,200 AT720
OXILY 2 WE (=0 MZ2)
Z2E 162,000& * 408 6,480 7,200 AT20
FEZS 433 AE 36,000 40,000 24,000
— 14 —




A Jl=HdH

g e

Chel: S3tas Jisie (&9 ®M
SAN-ZH-SA(FA) - NFAY - BES O AF K J|E Hlw &2
402 2IZtX 01N 36,000 40,000 A4,000
01 SIAGEEX 36,000 40,000 24,000
ORs=2s AZs Alg(20aE2d)
Z & 18,000,000& * 2004 36,000 40,000 24,000
EENS ML AIY 14,000 15,750 A 1,750
402 SI2t X201 14,000 15,750 A 1,750
01 22 X2EX 14,000 15,750 21,750
O DAl THEHEHX ZH (20 At 2H)
23 14,000,000& * 1JHA 14,000 15,750 A1,750
HY2IZH (==X 1) 184,789 197,629 A 12,840
Jl=2Z4l 176,779 189,619 A 12,840
sEXNE Jl=3Hl 161,536 173,836 A 12,300
201 LBt 3| 125,386 132,886 27,500
01 AtS 22/t 39,306 40,306 A 1,000
Olget=gHl] 10,700 11,700 A 1,000
ORMN2YE SHANY(SHMEZH)
Z2& 10,700,000& * 14 10,700 11,700 A 1,000
02 2322t 86,080 92,580 26,500
Ola3223 % HAlI 51,092 56,592 25,500
ORERB(20aE2NH)
28 2503 = 16,5000H 4,125 5,625 21,500
ONRI(SULE2ZNM)
Z& 1,888,000& * 14 1,888 3,888 22,000
ORI (20 LE2ZH)
Z2E 418,333& + 128 5,020 7,020 A2,000
O[¢zl] 4,658 5,658 A 1,000
OYULE I HZH| (20 A 2 H)
Z2E 4,658,000& * 14 4,658 5,658 A 1,000
202 Oddl 36,150 40,950 A4,800
02 EHNYI 9,600 14,400 24,800
OSHAEA FHOHI (20 AE2 *%)
2 & 200,000& = 4021 « 12& 9,600 14,400 24,800
Jl=23 Jl2&l 15,243 15,783 540
201 LBt 11,193 1,733 2540
01 AtE22/Hl 11,193 11,733 A 540
Ol=l] 4,893 5,433 A 540
ORAN2Y SHA (20 aEZAH)
2 & 4,893,000& * 14 4,893 5,433 A 540
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